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1. (6%) T HIRYEERIFS1 9, 3,4, 13,16, 19,1, 2,7, 21,23, 14, 11, 22 HRFEHEA
—(BZER TSR T -
(@) FBEHBEASTILFEFIRN o T |
() REEAIE L T T BYAR ER &% (root node)f% » RSB @Ry =5t
HEE T FEHTEEM T -
2. (6%) 7£ Linux {ESE 445 » 44— HZEAMT
“-rw-rw-_rw- 1 guestl guest2 79 Jan 4 01:51 guest3”
(a) SRR R R A 7
(b) FEAERAVEISE R 2
() TEFYT5E chmod 755 54 b =14 el A A AR B M B A fe] 2
3. (5%) B — RSB EHEIIEERLEEA B-C-D - A A{ETE
(process) P1 ~ P2 ~ P3 ~ P4 ~ P5 {E [t &fich » s R4 B TR Bt aEAD
T

Allocation Request Available
A B C D A B C D A B CD
P1 1 0 0 1 1 0 0 1 1 1 0 1
P2 1 1 1 1 0 1 1 1
P3 I 1 0 1 10 1 0
P4 I 1 0 0 I 1 0 1
P5 I 1 1 1 0 1 1 o

@ REEFEEREER 5175 %/ &8 (nstance) ?
() SRR 24t H AT E BFIESE4S (deadlock) ? 4175 5E4E - W A(ETIE
FTiERk 7
4. (8%) SR HEML/NERO. 10 TOTEBI T BT -
5. Discuss the differences between an equi-join, natural join and outer join. (7%)
6. In relational model, what is an anomaly and what are the three types of
anomalies? (8%)
7. Discuss the advantages and disadvantages of database partitioning. (10%)
8. TCPFll UDP R EEHIHMIERE - HEE T 5/ /EME -
(a) B TCP I UDP 14 AR - (5%)
(b) FFIEERH TCP LIBBARS (sliding window) HyRs+E Y - RS
BB TR - (10%)
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9. SEEF4HRREA SQL injection AYIKURERE - (10% )
10. (5 %) Choose correct answers regarding interface and abstract class in Java.
[smgle or multiple choices]
» They are the same.
~ Interface cannot define any method 1mplernentat1on but abstract class can.
* Abstract class can have constant as attributes but interface cannot.
* To have any instance of their type instantiated, they both need other class(es).
~ Abstract class is used in Java to realize multiple inheritance.
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11. 20%)FH Java B C++ - }%%#Féﬁﬁﬁffﬁ)fﬁ:ﬁnﬁa‘tﬁﬁTﬁﬁ’JFﬂé mHAEZEH
Z/VFE class REEHREVER - SFHEE B@O)IC) » REEOEESENY
@®) * AR FEH5 - BOISAESEN@IRE » OF Tt -

(@) SCFRIABRAZ OIS G %)
(b) EHH class diagtam G SERBAR class LR G %)) »
© BAAEHEEEFE (10%) -
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